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DIFFERENTIAL EQUATION

1. Select the correct answer : Degree of

differential equation


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_MCQp1NlVeCpl

B.0

C.2

D.3

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_MCQp1NlVeCpl

2. Select the correct answer : Order of

differential equation
2% (d2é) _ 3(3—2) +y=0

Al

B.0

C.2

D.3

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_vwg1qyNIsX9e

3. Select the correct answer:

differential
() ()
Al
B. 2

C.0

D. 3

Answer: B

Degree of

equation

o Watch Video Solution



https://dl.doubtnut.com/l/_LkAWaC8MExDK

4. Select the correct answer: Degree of

14+ (== =5(d°——
()] =5l %)

Al

B.0

C.2

D.3

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_LkAWaC8MExDK
https://dl.doubtnut.com/l/_ovWlxvNGOLLp

5. Select the correct answer:
(dzi>2 —+ sin(ﬁ) +x =0
dz’ dx
Al
B.1

C.2

D. not defined

Answer: D

Degree of

o Watch Video Solution



https://dl.doubtnut.com/l/_DsmRWj6P9R9V
https://dl.doubtnut.com/l/_Z3tn62hDQgXv

6. Select the correct answer: Order of
(d2i)3 + sin(ﬁ) +z =0

dz? dz

A0

B.1

C.2

D. not defined

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Z3tn62hDQgXv

7.The general solution of differential equation
cydr — xdy = O is :
A. xy=c
B.x = cy
2

Cy=cr

D. x=cy

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_rCsOd4Gc09mn
https://dl.doubtnut.com/l/_kAVg1Fe4gVHY

8. Select the correct answer: Degree of

du \ 2
differential equation of log(d—y) = 3z + 4y

Wi

IS

A.0
B.1
C.2

D. not defined

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_kAVg1Fe4gVHY
https://dl.doubtnut.com/l/_Ldb5amWX0QTi

9. The number of arbitrary constants in the

particular solution of a differential equation of

third order is :

A.0

B.1

C.2

D.3

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Ldb5amWX0QTi

10. Select the correct answer: The number of

arbitrary constant in the general solution of a

differential equation of third order is

A0

B.1

C.2

D.3

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_oT0j3HBV26tu

1. Fill in the blank: Order

y dy\”
5(d2F)+3(%) — 22 = 0is ......
xI

of

o Watch Video Solution

12. Fill  in the blank: Degree

dy 4+3 2L ) = o0is
o Yy 7)) = OIS

of

o Watch Video Solution



https://dl.doubtnut.com/l/_4pCYT7i3BqkV
https://dl.doubtnut.com/l/_ouKwroT4Upfs

13. Dill in the blank: Integrating factor of

o Watch Video Solution

14. Fill in the blank: Integrating factor of

W\ oo
:UE—F Yy =oxIs

o Watch Video Solution



https://dl.doubtnut.com/l/_JI6erAMh4bbM
https://dl.doubtnut.com/l/_UdeVxjgdqiLs

. . dy v\ _
15. The integrating factorof — — ( =) = 2z
dx x
1

is —
T

o Watch Video Solution

dy\® 1 |
16.Orderof | — | + — = 2is 1.
dx dy
dx

o Watch Video Solution

17. Degree of differential equation

y" + tany’ = yis 1


https://dl.doubtnut.com/l/_i468xBFN7vaO
https://dl.doubtnut.com/l/_WsaNxymCUXC0
https://dl.doubtnut.com/l/_0UZjWexfyFyG

° Watch Video Solution

18. Solve the following differential equation:

o Watch Video Solution

19. Find the particular solution of the

differential equation

dy :

ps ycot ¢ = 4z cos ecx, (x#0), given that
T

y = Owhen z = 5



https://dl.doubtnut.com/l/_0UZjWexfyFyG
https://dl.doubtnut.com/l/_lI08Opbg91bE
https://dl.doubtnut.com/l/_pWjJCN44xiA4

I 0 Watch Video Solution I

20. Solve the following differential equation:

N _
(a: 1)dw—|—2a;y—

x2 —1

o Watch Video Solution

21. Find the particular solution of the
differential equation

d
d—y + ycot x = 4x cos ecx, (z#0), given that
T
0

p— h = —.
y = Owhen z 5

e @@ l


https://dl.doubtnut.com/l/_pWjJCN44xiA4
https://dl.doubtnut.com/l/_kLKdFJSwubZ9
https://dl.doubtnut.com/l/_PwopBLkDYQdz

L_—_Watch Video Soljution )

22. Find the particular solution, satisfying the
given condition, for the following differential

d
equation :—y - + cos ec(g) =0y =20
dz x T

whenz =1

o Watch Video Solution

23. Solve the following differential equation :

dy .
COST—— + Yy = sinx

dx

o Watch Video Solution



https://dl.doubtnut.com/l/_PwopBLkDYQdz
https://dl.doubtnut.com/l/_QG2My3TswFqs
https://dl.doubtnut.com/l/_FfRJY7meBH8f

24, Solve the following differential equation :

d
:c—y +y=xlogx,x # 0.
dx

° Watch Video Solution

25.  For the differential equation

d
wy% = (x +2)(y+ 2), find the solution

curve passing through the point (1, — 1).

o Watch Video Solution



https://dl.doubtnut.com/l/_FfRJY7meBH8f
https://dl.doubtnut.com/l/_y9vhNwLKfF6f
https://dl.doubtnut.com/l/_hBXdtbkhX3Ze
https://dl.doubtnut.com/l/_JLSY2nmdEbsz

26. Solve the following differential equation :

d
(1—|—:c2)%—|—y:tan_lw

o Watch Video Solution

equation

o Watch Video Solution



https://dl.doubtnut.com/l/_JLSY2nmdEbsz
https://dl.doubtnut.com/l/_V9ecjGnL62K6

28. Show that the differential equation
Zye%daz + (y — 2me%)dy =0 is
homogeneous and find its particular solution

given thatx = Owheny =1

° Watch Video Solution

29. Solve the differential equation

a:(mz — 1)dyda: = 1,y = Owhen z = 2

o Watch Video Solution



https://dl.doubtnut.com/l/_G4fy5wHuIu0n
https://dl.doubtnut.com/l/_d0t6ZxOYXUPT
https://dl.doubtnut.com/l/_V1VCpHJQ4Anv

30. Find the particular solution of the
differential equation
dy .
(z + 1)d— = 2e —y — lgiven that y =20
x

whenz = 0

o Watch Video Solution

31. Show that the differential equation

d
w—ysin(g) +x — ysin(g) =0 Is
dx x x

homogeneous. Find the particular solution of

this differential equation, given that z =1

wheny = 72


https://dl.doubtnut.com/l/_V1VCpHJQ4Anv
https://dl.doubtnut.com/l/_KwBX406PcCom

° Watch Video Solution



https://dl.doubtnut.com/l/_KwBX406PcCom

